R0O015146 Pneumatic pipe Installation

Details to install pneumatic and electrical loom

@ Difficulty Hard ® Duration 8hour(s)

Contents

Introduction

Step 1 - Unless otherwise stated

Step 2 - Fit Front Tray

Step 3 - Valve bank identification

Step 4 - Cabinet Feed Connections

Step 5 - Rework fixing points

Step 6 - Fit tie bases

Step 7 - Fit rear Ethercat box and 240v socket
Step 8 - Prepare Pipes and Cables

Step 9 - Connections

Step 10 - Loom Regulator pipes

Step 11 - Loom Cables

Step 12 - Y91 Eject reed switches

Step 13 - Y91 Eject pneumatic connections
Step 14 - Y80 Infeed top clamp

Comments

Introduction

This instruction is to incorporate assembly RO015033B Module F Wiring loom alongside this
See Electrical department for prepared components from above assembly

Tools Required

Pipe cutters
Pipe identification markers
Flush cutters

Parts Required
PO0O00010 6mm 1/8 elbow fitting x 6 POO00046 Fitting: 'Y' Adaptor 6mm x 6

P0O000047 Bulkhead Elbow 6mm x 1

PO000159 Fitting: Stem Blanking Plug 6mm x 2
PO000160 Fitting: Flow Controller In Line 6mm x 2
PO000551 6mm inline Quick Exhaust Fitting x 3
PO001030 Fitting: SMC 6mm Equal Tee x 1
P0O001008 regulator x 3

P0O001009 Regulator nut x 3

P0O001106 Plugin reducer 12-8mm x 1

PO001107 Fitting 12mm equal tee x 1

P0001166 12mm tube to tube elbow x 1

Page 1/ 20



Step 1 - Unless otherwise stated

All bolts to have Loctite 243 adhesive applied unless otherwise
stated

All Threaded Pneumatic connections to have Loctite 570 applied
All bolts to be pen marked once adhesive applied and correct
tension added

Step 2 - Fit Front Tray

1 Fit front tray using 3 off M6 x 12 socket caps and 3 off penny washers

Ensure tray is fitted flush to frame on external edges

2 Assemble 3 off PO0O01008 regulators with 6 off PO0O00010 elbows as shown

3 Fit regulators to tray, ensuring all orientated the same and correct way

4 Add identification labels printed from dyno machine to regulators front and rear as follows
Y206 Centralise
Y202 Side clamp

Y80 Infeed Top clamp

Page 2 /20


https://stuga.dokit.app/wiki/Fichier:R0015086_Assemble_Pneumatics_on_to_electrical_cabinet_loctite_243.png
https://stuga.dokit.app/images/thumb/5/50/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081047.png/ia-d5f310c56198cb4659f651edfe549dea-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081047.png.png
https://stuga.dokit.app/images/thumb/7/75/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081722.png/ia-0d97e80d07c28b94de80de154bb1b0d6-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081722.png.png

Page 3/20


https://stuga.dokit.app/images/thumb/b/bd/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081715.png/ia-66210f4244adeabc9621011c064e1f36-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081715.png.png
https://stuga.dokit.app/images/thumb/4/4f/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081651.png/ia-79890ad08ffd2ad2bb35f3aed8111ec3-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081651.png.png
https://stuga.dokit.app/images/thumb/8/8c/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081709.png/ia-33e18d10688c08e5a4d6a1f74885937b-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_081709.png.png

Step 3 - Valve bank identification

2 Row is home position

4 Row is active position

Step 4 - Cabinet Feed Connections

1 Connect 8mm Red pipe to air gun regulator .From main air service unit through trunking to regulator
2 Connect 12mm pipe as shown

Page 4 /20


https://stuga.dokit.app/wiki/Fichier:R0015146_Pneumatic_pipe_Installation_Screenshot_2023-10-23_145414.png
https://stuga.dokit.app/images/thumb/2/2d/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083953.png/ia-a44f63e2a7abc5a07f5810ebe3675558-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083953.png.png
https://stuga.dokit.app/images/thumb/f/fb/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083318.png/ia-a5cf40d29d258d706512e7c3c807fc56-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083318.png.png
https://stuga.dokit.app/images/thumb/5/59/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083624.png/ia-2e38757caf65dceb6720cde611fe3440-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083624.png.png

- lll:ullll(lllﬂgi'}g_\\a_

srrfER R

Step 5 - Rework fixing points

Additional holes added for cable tie bases.

ECR Raised 14/12 /23 to capture. Until processed rework parts at production

Page 5/20


https://stuga.dokit.app/images/thumb/7/74/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083716.png/ia-84cce5a36f15b66a0f2aec6d75f8d2c7-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083716.png.png
https://stuga.dokit.app/images/thumb/5/57/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083735.png/ia-b545a2394406fa3711a245ba192eba5a-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083735.png.png
https://stuga.dokit.app/images/thumb/e/e3/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083741.png/ia-009d4f720578b1d18d441d4d5e1cd8bb-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_083741.png.png

Page 6/ 20


https://stuga.dokit.app/images/thumb/2/29/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_085537.png/ia-373c4e376dc4a42e8080da84e6a66dd9-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_085537.png.png
https://stuga.dokit.app/images/thumb/2/2f/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090013.png/ia-d9aadbc404d86a6b71ff0882d0d1069b-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090013.png.png
https://stuga.dokit.app/images/thumb/e/e7/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090239.png/ia-ca5e55d165bdd2ae2caad75d5ce17e9c-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090239.png.png
https://stuga.dokit.app/images/thumb/d/d2/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090742.png/ia-c31e587b7f0561373c176e1a0dd96c91-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090742.png.png

Step 6 - Fit tie bases

1 Fit 2 off M4 tie base as shown using M4 x 6 button sockets. Ensure to orientate as shown
2 Fit 5 off Mé tie base as shown. Use M5x10 button sockets to fix

3 Fit 2 off M4 tie bases to eject using 2 off M4 x 6 button sockets

4 Fit 2 off M4 tie bases to eject using 2 off M4 x 6 button sockets

5 Fit 1 off M4 tie bases to eject using 1 off M4 x 6 button socket

6 Fit 1 off M6 cable tie base using M5 x 10 button socket

Page 7/20



https://stuga.dokit.app/images/thumb/5/58/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090754.png/ia-2e7ef30a8e2ddd936cacc45094dc2421-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_090754.png.png

Page 8/20


https://stuga.dokit.app/images/thumb/8/83/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084247.png/ia-b887212c18f7ac1ad13f24f64b10467e-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084247.png.png
https://stuga.dokit.app/images/thumb/7/72/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084443.png/ia-e1427804342653c6fcfda2cf2bb055d7-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084443.png.png

Page 9/20


https://stuga.dokit.app/images/thumb/b/b9/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084650.png/ia-c700930a82a79fad711f63d842e892ca-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_084650.png.png
https://stuga.dokit.app/images/thumb/a/a5/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_091113.png/ia-400ec075bf09545acab86bcc286544d8-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_091113.png.png
https://stuga.dokit.app/images/thumb/e/e0/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_091220.png/ia-2f4060f32d75518651ff3908bc296d86-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_091220.png.png

Step 7 - Fit rear Ethercat box and 240v socket

1 Fit ethercat box as shown using 2 off M3 x 25 pan heads. Fit 2 off M3 A Form washers and 2 off M3 nuts behind
2 Fit 240v socket using 4 off M4 x 12 socket caps and 4 off A Form washers . Fit 4 off M4 A Form washers and 4 off M4 nyloc nuts behind
3 Refit front cover to 240v connection box

Page 10/ 20


https://stuga.dokit.app/images/thumb/e/ef/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094024.png/ia-b28e41c270befb98f552e0e9705c6410-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094024.png.png
https://stuga.dokit.app/images/thumb/d/d2/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094018.png/ia-d9a32d0bb85c2642a311f022b5339870-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094018.png.png
https://stuga.dokit.app/images/thumb/b/b4/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094032.png/ia-bff60d72390ac77e48eb533bb718a53d-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_094032.png.png

Step 8 - Prepare Pipes and Cables

1 Cut 6 lengths of 6mm black pipe at 5 meter long.
2 Use cables ECO5F and 24F from loom box

Page 11/ 20


https://stuga.dokit.app/images/thumb/8/82/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_095634.png/ia-9f0b5403b99a7fb5c18dac4dc39e99ad-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_095634.png.png
https://stuga.dokit.app/wiki/Fichier:R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_103530.png

Step 9 - Connections

1 Connect ECO5f to in port of shown Ethercat box
2 Connect 24f to in port of shown Ethercat box and tidy loom with cable ties
3 Leave s_IeEIE h»er»e»for regulator connections

Step 10 - Loom Regulator pipes

1 Loom across and attach 6 off 6mm black pipes to lower tab of tie bases.

2 Route pipes through area shown

3 Exit pipes at this point

4 |dentify pipes using airline to blow through. Use numbers 2069,2029,809,802,2022 and 2062.
5 Exit 2069,2029,809 and 802 through cutout. Leave 2022 and 2062 as is

6 Connect Regulators as shown

Page 12 /20


https://stuga.dokit.app/images/thumb/8/86/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_103643.png/ia-381fa89c482e33362e3cf0724a2e563f-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_103643.png.png
https://stuga.dokit.app/images/thumb/9/94/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_103753.png/ia-25f8e41752f381f3e6a385296c94282e-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_103753.png.png
https://stuga.dokit.app/images/thumb/4/44/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_110313.png/ia-b4d77dd328c44945793913287b8e9604-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_110313.png.png

Page 13/ 20


https://stuga.dokit.app/images/thumb/e/e6/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104835.png/ia-b36caef231250c1684e113bd1e03791c-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104835.png.png
https://stuga.dokit.app/images/thumb/a/a3/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104840.png/ia-bc8f8dfcc0d4c230d4fe153836ae57a5-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104840.png.png
https://stuga.dokit.app/images/thumb/5/50/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105149.png/ia-bb77e1629cd07f60c2ecb2d8c1d1f575-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105149.png.png

Step 11 - Loom Cables

Loom cables 24F and ECO5f as shown

Page 14 / 20


https://stuga.dokit.app/images/thumb/2/20/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105253.png/ia-59a9ebb2cf3541c743b1916ffba8c2be-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105253.png.png
https://stuga.dokit.app/images/thumb/f/fb/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_110251.png/ia-635755eac7800b2b0f5b180cb42ed8ff-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_110251.png.png

Page 15/ 20


https://stuga.dokit.app/images/thumb/0/01/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105730.png/ia-e09cb741c36b8d75291a1a1f5594d862-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105730.png.png

Step 12 - Y91 Eject reed switches

1 Use reed switches CBX 141 and CBX 142 from loom box
Set in position on eject cylinder using test box . CBX 141 home position CBX142 out position . Reed switches are mounted on bottom face of
cylinder

2 Exit cables at point shown
3 loom through energy chain

Step 13- Y91 Eject pneumatic connections

1 Cut 2 off 6mm black pipes at 4.5 meters long

2 Loom through energy chain

3 Then box section as shown

4 Exit point though cutout

5 Use air to identify pipes as 901 and 909

6 Connect eject cylinder as shown . incorporating reed switches into loom
7 Finalise reed switch loom and exit to ethercat box

Page 16 / 20


https://stuga.dokit.app/images/thumb/f/f5/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_111031.png/ia-cdaba08c35e9790490cc9075576a5f70-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_111031.png.png
https://stuga.dokit.app/images/thumb/2/23/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113054.png/ia-26929b9e193dca82c6c25f4e6fc93ae2-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113054.png.png

71


https://stuga.dokit.app/images/thumb/2/23/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113054.png/ia-2e14cf52e0460a4b1bf689ace53f8288-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113054.png.png
https://stuga.dokit.app/images/thumb/a/a3/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104840.png/ia-54fea0dff0a80d342fb01de39526547c-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_104840.png.png

Page 18 /20


https://stuga.dokit.app/images/thumb/2/20/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105253.png/ia-ff76a3f50788ac356183cc91c8461773-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_105253.png.png

Page 19/ 20


https://stuga.dokit.app/images/thumb/b/b8/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113752.png/ia-34c4be4109dfa365b72ae4d9da439753-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113752.png.png
https://stuga.dokit.app/images/thumb/f/f6/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113849.png/ia-29c7546089dbcfe4d170308db45a01c4-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-12-14_113849.png.png

Step 14 - Y80 Infeed top clamp

801 valve bank home to cylinder nose

803 to feed cylinder rear port and valve port indicated . POO00551
to be fitted to this line next to cylinder

Page 20/ 20


https://stuga.dokit.app/images/thumb/9/9d/R0015146_Pneumatic_pipe_Installation_Screenshot_2023-10-23_145824.png/ia-4f75b19090cc64256ca39555b705ce58-1000px-R0015146_Pneumatic_pipe_Installation_Screenshot_2023-10-23_145824.png.png

	R0015146 Pneumatic pipe Installation
	Contents
	Introduction
	Step 1 - Unless otherwise stated
	Step 2 - Fit Front Tray
	Step 3 - Valve bank identification
	Step 4 - Cabinet Feed Connections
	Step 5 - Rework fixing points
	Step 6 - Fit tie bases
	Step 7 - Fit rear Ethercat box and 240v socket
	Step 8 - Prepare Pipes and Cables
	Step 9 - Connections
	Step 10 - Loom Regulator pipes
	Step 11 - Loom Cables
	Step 12 - Y91 Eject reed switches
	Step 13 - Y91 Eject pneumatic connections
	Step 14 - Y80 Infeed top clamp


